» Netti MINI FAMILY

OOOOOOO BY ALU REHAB

SPAREPART
& ACCESSORIES

* Netti Mini

COMFORT

0715/4



BIBN Designed in Norway

SPARE PARTS
& ACCESSORIES

* Frame

* Head Support

* Arm Support

* Foot Support

* Wheel, Castors & Accessories
» Seat and back accessories

* Electical component

* Misc. accessories

* Netti Cushion Family Catalogue

Welcome to this catalogue which makes it easy for
you to find the right product for your wheelchair. It
provides you with a complete overview of the avail-
able accessories as well as spare parts. If you have
any questions please don’t hesitate to call us or send
us an email.



SEAT PLATE

Position Description

Seat plate solid (WxD) Netti Mini 25x32 cm

Seat plate solid (WxD) Netti Mini 30x32 cm

Seat plate solid (WxD) Netti Mini 35x32 cm

Item no. Pcs. per chair

GAS CYLINDER

Position Description

Cylinder tilt Netti Mini 150N

Cylinder back kit Netti Mini 150N

TRANSPORT OF WHEELCHAIR

Position Description

Pcs. per chair

Item no. Pcs. per chair

FRAME EXTENDER SET

Position Description

Item no. Pcs. per chair

Frame extender set complete right and left

BACK LOCKING HEAD

Position Description

Back locking head, 38 mm for SD 40 and 42,5 cm 20383

¥ Netti Mini

COMFORT

Item no. Pcs. per chair

. EI A<

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 3



l HEAD SUPPORT

HEAD SUPPORT - COMPLETE

Position Description

Head support A 3D Mini, 200 mm horizontal bar (standard)

Head support A 3D Mini, 350 mm horizontal bar
Head support B 3D, 300 mm horizontal bar
Head support B Easy Care, 300 mm horizontal bar

ACCESSORIES TO HEAD SUPPORT

Position Description
1 Vertical bar vert bar w/tube 200 mm (Standard)
1 Vertical bar vert bar w/tube 300 mm

—_

Vertical bar vert bar w/tube 500 mm

Head support B w/tube 150 mm (Standard), Easy Care
Head support B w/tube 150 mm (Standard), 3D

Head support B w/tube 250 mm, Easy Care

Head support B w/tube 250 mm, 3D

Head support B w/tube 380 mm, Easy Care

w W w W w w

Head support B w/tube 380 mm, 3D
Extra cover for head support B (Easy Care)

Extra cover for head support B (3D)

Washer M6

Star wheel M8

Washer M8

Square plug horisontal bar 20 x 30 x 177 mm

Plastic plug vertical bar

4 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

Clamp lever M6 x 30 mm for head support, height adjustable

Item no.

41401

41402
41403
42360
42361

42363
42364
42366
42367
27555
40884
20282
20063
26684
29305
20852
20509

Pcs. per chair

Pcs. per chair

» Netti Mini

COMFORT



HEAD CUSHION WITH ELASTIC BAND

Position Description Item no. Pcs. per chair

_ Head pillow with elastic band, grey 3950

l 140ddNS dv3H

b Netti mini MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 5



BACKREST

Position

1
1
1

Description

Backrest 25 cm Netti Il complete
Backrest 30 cm Netti Ill complete
Backrest 35 cm Netti Il complete
Cylinder hinge

Back hinge bracket

Release handle tilt/back left
Release handle tilt/back right
Screw M6 x 40 mm

Clamp lever M6 x 16 mm, depth adjustable
Head support adapter, complete
Sqguare nut M6

Plug 25x15 mm

Netti Velcro width 25-35 cm

Backrest push bar bracket complete

Item no.

23779
23780
23781
20433
20728
20464
20463
20431
20097
23005
20296
21847
2860
26051

Pcs. per chair

w A =

N N

l BACKREST

6 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM

» Netti Mini

COMFORT



PUSH BOW

Position Description Pcs. per chair

Push bow adjustable compl 25 cm

Push bow adjustable compl 30 cm

Push bow adjustable compl 35 cm

BACK EXTENDER

Position Description Item no. Pcs. per chair

Back extender 50 cm (only for sw 35 cm) 43799

PUSH HANDLE

Position Description Pcs. per chair

Push handle, 300 mm

Push handle, 500 mm

Lock nut M6

Screw M6 x 25 mm

l 1S34M10vd

b Netti mini MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 7



?'1':

L,

SIDE SUPPORT STABIL

Position Description Item no. Pcs. per chair

Side support Stabil, right
Side support Stabil, left
Side support upholster Stabil

SIDE SUPPORT CORRECTION

Position Description Item no. Pcs. per chair

Side support Netti Mini 24218

LUMBAR SUPPORT

Position Description Item no. Pcs. per chair

Lumbar support width 25-30 cm 2837
Lumbar support width 35 cm 2838

l SEAT & BACK UNIT

8 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM b Netti mini



ABDUCTION BLOCK

Position Description Item no. Pcs. per chair

H-BELT

Position Description Pcs. per chair

H-belt upholstered with car lock

H-BELT ADAPTER

Position Description Item no. Pcs. per chair

_ H-belt adapter, width 25-38 cm 25949

BELT HIP

Position Description Item no. Pcs. per chair

- Belt hip complete with pad and car lock 20845

¥ Netti Mini

. 1INN YMOVE ® 1Vv3S

COMFORT MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 9



_IBERTAS OPTION:
15° BACK FLEXIBILITY
-OR AN IMPROVED
SEATING COMFORT

NETTI LIBERTAS

Position Description Item no. Pcs. per chair

. @ Netti Libertas 15° flexible back, kit, 8ON cylinder 44986 1
o @ Netti Libertas 15° flexible back, kit, 120N cylinder 44987 1
O
] @ Netti Libertas 15° flexible back, kit, T60N cylinder 44988 1
u L
L
O
@)
<
=)
— -
v Net\’.\
©)
[N
o
o]
n
b3
X on
<u
__

10 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM b Netti Mini



ARM SUPPORT PAD

Position Description Item no. Pcs. per chair
1 Arm support pad 330 x 55 mm (standard) 29135 2
1 Arm support pad 385 x 58 mm 20835 2
Arm support pad PU, 445 x 68 mm 29136 2
2 Arm support pad PU, 420 x 80 mm 29137 2
Arm support pad PU, 525 x 80 mm 29138 2
3 Arm support pad w. bend PU, 525 x 80 mm 29139 2
Arm support pad cover (extra soft) 385 x 58 mm 41649 2

s T ———
0]

COMFORT PAD - ARM SUPPORT

Position Description Item no. Pcs. per chair

Arm support Comf pad right Netti Mini

Arm support Comf pad left Netti Mini

ARM SUPPORT

Position Description Item no. Pcs. per chair

Arm support right

Arm support left

Arm support clothe protector

CHNT www.alurehab.com | Tel. +45 8788 7300 & +47 51 78 62 20
"yf::‘otnl Mini MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 51 78 62 20

l S3IIHOSSIADIV ® LdO0ddNS WAV

il



ARM SUPPORT HEMPLEGIC COMPLETE

Position Description Item no. Pcs. per chair
1 Arm support hemiplegic right Netti Mini 24038 1
2 Arm support hemiplegic left Netti Mini 24039 1
3 Hemplegic arm support pad upper part, right 20757 1
4 Hemplegic arm support pad upper part, left 27583 1
Spare cover for hemplegic arm support 43650 1/2

l ARM SUPPORT & ACCESSORI-
ES

12 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM b Netti mini



EXTENSION PART

Position

Description

Extension part, silver, right
Extension part, silver, left

Foot support locking bracket, right
Foot support locking bracket, left

Pcs. per chair

EXTENSION PART WITH ABDUCTION

Position

¥ Netti Mini

COMFORT

Description

Item no. Pcs. per chair

Extension part with abduction - 2.5 cm extra, right 80071 1
Extension part with abduction - 2.5 cm extra, left 80072 1

l S3IIHOSS3IADIDV ® Ld0ddNS 9371

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 13



FOOT SUPPORT MINI

Position Description

Foot support angle adj right Netti Mini

Foot support angle adj left Netti Mini

FOOT PLATES

Position Description

Foot plate Netti Mini 25 cm
Foot plate Netti Mini 30 cm

Foot plate Netti Mini 35 cm

Item no.

25146

Item no.

Pcs. per chair

Pcs. per chair

(9]
e CALF SUPPORT
[n'd
O Position Description Item no. Pcs. per chair
9]
wn ) o
L 1 Calf support right Netti Mini 25 cm 25148 1
O]
Q 1 Calf support left Netti Mini 25 cm 25149 1
<
- 1 Calf support right Netti Mini 30 cm 25150 1
- 1 Calf support left Calf Netti Mini 30 cm 25151 1
[ad
(@) 1 Calf support right Netti Mini 35 cm 25152 1
[a
n 1 Calf support left Netti Mini 35 cm 25153 1
)
(9]
O
]
|

]

14  Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

¥ Netti Mini

COMFORT



FOOT BOARD

Position Description b Pcs. per chair

Foot board compl 25 cm
Foot board compl 30 cm

Foot board compl 35 cm

FOOT SUPPORT UNIVERSAL

Position Description Item no. Pcs. per chair

1 Foot support Universal, right 26708 1
2 Foot support Universal, left 26722 1

KNEEPADS

Position Description Pcs. per chair

Kneepads, universal 3D, L
Kneepads, universal 3D, R

Kneepads, universal EC, L

Kneepads, universal EC, R

b Netti mini MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 51 78 62 20

l S3IIHOSS3IADIDV ® Ld0ddNS 9371

—_
Ul



FOOT BOX

Position Description Item no. Pcs. per chair
1 Foot box Netti Mini 25 cm 23836 1
1 Foot box Netti Mini 30 cm 23837 1
1 Foot box Netti Mini 35 cm 44840 1
2 Locking bracket for foot box, right 80839 1
3 Locking bracket for foot box, left 80840 1

ANKLE HUGGERS

Position Description Item no. Pcs. per chair

Ankle huggers S (17-20 cm)
Ankle huggers M (19-23 cm)

Ankle huggers Large (22-29 cm)
Ankle huggers X-Large (28-33 cm)

DOO®

l LEG SUPPORT & ACCESSORIES

16 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM b Netti Mini



¥ Netti

COMFORT

BEARING HOUSE KIT

Position Description

Bearing house kit, right
Bearing house kit, left

Plug

DISTANCE BUSH FRONT CASTOR

Position Description

Distance bush front castor 20664

Mini

Item no. Pcs. per chair

Item no. Pcs. per chair

l ST33IHM

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 17



l WHEELS

FRONT CASTOR

Position

o O O o ;o unou ;oo b~ NN

Description

Front castor w/ fork 6” 150 x 30 mm, PU

Front castor w/ fork 7”175 x 33 mm, PU

Front castor w/ fork 7”175 x 45 mm, Flexel

Front castor w/ fork 8” 200 x 50 mm, Flexel
Skrew M8 x 65 mm

Washer M8

Nut M8

Front castor 5” 125 x 27 mm, PU

Front castor 6” 150 x 30 mm, PU

Front castor 77 175 x 33 mm, PU

Front castor 77 175 x 45 mm, Flexel

Front castor 7” 175x45 mm, Luft

Front castor 8” 200 x 50 mm, Flexel

Front fork Standard, 146 x 45 mm, with quick release
Front fork Short, 125 x 45 mm, with quick release

Front fork Wide, 146 x 60 mm, with quick release

18 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

Item no.

20538
20535
22193
40719
20419
20068
20412
20814
20817
20976
20279
20297
20863
20429
20142
20286

Pcs. per chair

N NN NN NN DNDNDND DR DNMDNMDNDNDNDN

» Netti Mini

COMFORT



MAIN WHEEL

Position

¥ Netti Mini

COMFORT

1

o N o oo o o o~ M M D D DN DN DM DDA DM DN D DD DN MDD NN

Description

12” main wheel with drum brake luft, kit

12” main wheel with drum brake flexel, kit

20” main wheel with drum brake, 20x1, puncture proof, kit
22” main wheel with drum brake, 22x1 puncture proof, kit
24” main wheel with drum brake, 24x1 puncture proof, kit
Wire 1250 mm complete

Brake handle, lockable

20” main wheel, 20x1 puncture proof

20” main wheel, 20x1 3/8 Flexel

20” main wheel, 20x1 3/8 Air

22” main wheel, 22x1 puncture proof

22" main wheel, 22x1 3/8 Flexel

22” main wheel, 22x1 3/8 Air

24” main wheel, 24x1 puncture proof

24” main wheel, 24x1 3/8 Flexel

24” main wheel, 24x1 3/8 Air

20” main wheel with drum brake, 20x1, puncture proof
20” main wheel with drum brake, 24x1 3/8 Flexel

20” main wheel with drum brake, 24x1 3/8 Luft

22” main wheel with drum brake, 22x1 puncture proof
22” main wheel with drum brake, 24x1 3/8 Flexel

22” main wheel with drum brake, 24x1 3/8 Luft

24” main wheel with drum brake, 24x1 puncture proof
24” main wheel with drum brake, 24x1 3/8 Flexel

24” main wheel with drum brake, 24x1 3/8 Luft

Push rim aluminium, 20”

Push rim aluminium, 22"

Push rim aluminium, 24”

Quick release, 12 x 98 mm, standard

Quick release 12 x 108 mm, drum wheel

Wheel bearings, Std, M18 x 1 mm, @12 med 2 x matrik + skrue
Wheel bushing complete (6 x skrews M5x40 mm + adjustment piece)
Brake plate, right

Brake plate, left

Item no.

23179
23175
25472
24365
24310
27628
41313
25370
20016
20145
25371
20015
20141
25372
20014
20146
43105
43173
43175
43101
43180
43188
43103
43183
43181
43031
43028
43029
20449
23605
20329
21m
20614
20615

Pcs. per chair

2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2
2

—

1

l ST3dIHM

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 19



l WHEELS

N
(@)

SPOKE PROTECTOR

Position Description

Spoke protector transparent 20”
Spoke protector transparent 22”

Spoke protector transparent 24”

PUSH RIM COVER

Position Description

Push rim cover 20”
Push rim cover 22”

Push rim cover 24”

Description

Brake Universal, complete with 90 mm handle, right

Brake Universal, complete with 90 mm handle, left

Brake handle extender, 150 mm

Brake handle extender, 250 mm

Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

Item no.

Item no.

Item no.

Pcs. per chair

Pcs. per chair

Pcs. per chair

¥ Netti Mini

COMFORT



CAMBER ADAPTER SET

Position

¥ Netti Mini

COMFORT

Description Item no. Pcs. per chair

Camber adapter set complete 2°, right and left 21923
Camber adapter set complete 4°, right and left 21924

. ST33IHM

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 6220 21



ANTI TIP

Position Description

Pcs. per chair

1 Anti tip w/ pedal short/short
1 Anti tip, Long/Short
Anti tip lock bracket complete

Anti tip spring 445 mm

2
3
4 Anti tip vertical bar, short
4

Anti tip vertical bar, long

25416
25419
26980
24243
26118
27539

N N NN NN

l WHEELS

22 Tel. DK: +45 8788 7300 & NO +47 5178 62 20 | MY-NETTI.COM

¥ Netti Mini

COMFORT



TRAY UPHOLSTERY

Position Description

Item no. Pcs. per chair

Tray upholstery width 25-43 cm, right 15042

Tray upholstery, width 25-43 cm, left

Description

Universal tray standard, width 25-30

Universal tray standard, width 35 cm

Guide rail for tray

¥ Netti Mini

COMFORT

15043

Item no. Pcs. per chair

cm

l S3AIHOSSIDIDV 'OSIW

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 23



MULTI RACK

Position Description

Multi rack. To be mounted on the back top tube

l MISC. ACCESSORIES

24 Tel. DK: +45 8788 7300 & NO +47 51 78 62 20 | MY-NETTI.COM

Item no.

41987

Pcs. per chair

1

¥ Netti Mini

COMFORT



¥ Netti Mini

COMFORT

Description

Universal device box 35 cm incl. 4 angles

Device box cover plate U-Form, 35 cm

Angle allocater Universal (4 stk.)

Pcs. per chair

44840
44851
80-10017

l S3Id0SS3IADDV 'OSIN

MY-NETTI.COM | Tel. DK: +45 8788 7300 & NO: +47 5178 62 20 25



Prices are subject to price changes and errors. The newest catalogue can be found on our homepage: My-Netti.com.

Follow the manual tagged November 2010.

IN DIALOGUE WE CREATE
SIMPLE SOLUTIONS AND
ENABLE JOY OF LIFE

DETLEF SCHAFER-NORZEL

B CHRISTINA DYLMER :.HANS-@YVIND SAGEN
| g

FEEL FREE TO CONTACT US:

NORWAY DENMARK
Alu Rehab AS Alu Rehab ApS
Bedriftsvegen 23 Klaftehaj 8
N-4353 Klepp Stasjon DK-8680 Ry
T: +45 87 88 73 00
BY ALU REHAB T: +47 5178 62 20 F: +45 87 88 7319

post@My-Netti.com info@My-Netti.com My-Netti.com



